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فیزیک

1

2
میکرو قرن ۱ = ۱۰ قرن =−۶ ۱۰ ۶−×قرن ×

قرن ۱
سال ۱۰۰

×
سال ۱

روز ۳۶۵
×

روز ۱
ساعت ۲۴

=
ساعت ۱
دقیقه ۶۰

دقیقه۵۲/۵۶

3
یک میلیارد ثانیه = ۱۰ s ×۹ ×

۶۰s
۱min

×
۶۰min

۱h
×

۲۴h
۱day

=
۳۶۵day
۱year

۳۲year

4
آهنگ رشد = =

۱۴day
۳/۷m

×
۱۴

۳/۷
×

۱m
۱۰ μm۶

=
۸۶۴۰۰s
۱day

۳/۰۵μm/s

5                                            

v = ۳× ۱۰ m/s , t = ۳۶۵ × ۲۴× ۶۰× ۶۰ = ۳/۱۵۳۶× ۱۰ s۸ ۷

۱ly = vt = ۳× ۱۰ × ۳/۱۵۳۶× ۱۰ ≃ ۹× ۱۰ m۸ ۷ ۱۵

d = ۱/۰۰× ۱۰ m ×۲۶ =
۹× ۱۰ m۱۵

۱ly
۱/۱۱× ۱۰ ly۱۰

6۱Lit = ۱۰۰۰cm ⇒ ۱cm = ۱۰ lit۳ ۳ −۳

۱s = min
۶۰
۱

۱۲۵ = ۱۲۵ × × = ۷/۵lit/ min
s
cm۳

s
cm۳

min
۶۰s

۱۰۰۰cm۳

lit

7
۱۰۰۰kg/m =۳ ۱۰۰۰kg/m ×۳ ×

mg
۱۰۰۰g

=
۱۰ cm۶ ۳

m۳
=

۱۰ cm۶ ۳

۱۰ g۶
۱g/cm۳

8ρ = ۱/۰۵g/cm۳

V = ۴/۷۰lit = ۴/۷۰× ۱۰ cm۳ ۳

m = ρV = ۱/۰۵ × (۴/۷۰× ۱۰ ) = ۴/۹۳۵ × ۱۰ g = ۴/۹۳۵kg۳ ۳

۱/۵جرم زنبورعسل با نمادگذاری علمی به صورت  است.9 × ۱۰ kg−۴

۰/۰۰۰۱۵ kg = ۱/۵ × ۱۰ kg−۴
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